Discuss how the income and substitution effects vary when there is a price decrease for a normal good compared to that of an inferior one
With any price change of a good, an increase or decrease, the quantity demanded will change. Therefore the consumption bundle will move from one equilibrium point – where the budget line meets the indifference curve - to another.  We call the effect of this the total effect. This effect consists of the two parts, one being the income effect and the second, the substitution. 
The substitution effect defines the change in consumption bundles caused only by a change in relative prices of goods. An example of this is if the tuition fees asked of by private universities increased by 10%, whilst the fees asked of by public universities increased only by 2%, it is likely that there would be a  considerable shift in attendance from private universities to public ones. 
Whereas the income effect defines the change in consumption bundles caused only by a change in real income – with the relative prices of goods remaining the same - a change in real income in fact can be caused by income or price changes or fluctuations in currency. Therefore in practice, if the price of a good increases, one’s ability to purchase as many bundles decreases or if the price of a good decreases, one has a greater ability to purchase more bundles. Change in a good’s consumption pattern varies depending on the type of good, as goods can be inferior or normal. Normal goods also have two subgroups, luxury and necessity. 
This essay will separately discuss the income and substitution effects we see when there is a price decrease of all goods discussed above. To illustrate this, diagrams based on indifference curves will be used, whereby indifference curves show the combination of two goods that give an individual a given level of satisfaction. The x-axis represents the good that will see a fall in price and the y-axis all other goods.  
We will first look at the income and substitution effects when there is a price decrease for normal goods. A normal good has positive elasticity of demand. Therefore, it is a good that increases in demand when income rises and decreases in demand when income falls, where price remains constant. To explore the substitution and income effect of a normal good we can use petrol as the example good, both effects are illustrated in the below diagram. 
To gain an understanding of this diagram, first we draw the budget constraint. This illustrates all opportunities available to the consumer when they allocate their maximum budget between two goods, where the gradient is the relative price of the two goods. Allocating one’s entire budget between two goods is assumed to gain maximum satisfaction. Maximum satisfaction takes place when the budget constraint and indifference curve are tangent to one another, at the point where the budget line and highest indifference curve touch. It is here that the consumer’s marginal rate of substitution (“a measure of the number of units of Y that must be sacrificed for unit of X gained to maintain a constant level of satisfaction”) exactly equals the relative price. Suppose we are now told that the price of good x (petrol) decreases. When this occurs, the budget constraint rotates anti-clockwise about the y-axis. A greater level of satisfaction is now attainable, whereby the relative price changes so that the value of all other goods becomes relatively more expensive. The movement from points E0 TO E2 represent the overall effect of the price change. To distinguish between the income and substitution effect we isolate one from the other. To do this we create an imaginary budget constraint. This is drawn parallel to the new budget constraint (where the petrol prices have decreased) and tangent to the original indifference curve. There is only one point that allows both of these requirements, consider this imaginary optimal bundle E1. From this point we can see the division of the income and substitution effect. Therefore, we can see that for this type of good there is an increase in quantity demanded when price falls as the income and substitution effect both work in the same positive direction.
We can divide normal goods into necessity and luxury goods. Looking at necessity normal goods, demand rises less than proportionally to the rise in income, they have an income elasticity of demand which lies between 0 and 1. Examples include the demand for vegetables or newspapers. On the otherhand, for luxury normal goods demand rises more than proportionally to the rise in income. The price elasticity of demand for these goods exceeds 1. Examples of these goods include fine wine or designer label products. Now suppose we juxtapose a fall in the price of a necessity and luxury good. The substitution and income effect would work in the same manner as described for the general normal good; however there would be some difference in the extent of the income effect. Any fall in price results in an increase in our real income but due to luxury goods being more expensive the decrease would have a smaller effect. The income effect would therefore be greater for a necessity good than for a luxury one. It is important to note that the overall effect is still a positive one. 
Alternatively, we can look at the substitution and income effects when there is a price decrease for an inferior good. Inferior goods have a negative income elasticity of demand, thus when consumer income rises, demand decreases. The reason for this is that largely, the consumer is now able to purchase more luxurious goods that can offer more pleasure. The process of analysing the income and substitution effect remains the same as previous, the below diagram illustrates this. 

In the previous example we discussed how both effects moved in the same direction, this is therefore not true for this type of good. The substitution effect will always move in the positive direction (the effect is always negative-consumption as it always moves in the opposite direction to price), whilst the income effect will move in the negative direction because of its relationship being negatively elastic. Yet, the net effect will still be positive as the substitution effect is larger than the income effect. 

Conclusion
Income, inferior, necessity and luxury goods are all very relative terms. To a consumer with no or very little income, all goods are normal – even inferior goods - in the sense that they more money they have, the more they will consume of everything, except possibly luxury goods, which are not necessary to life, or for which cheaper alternatives exist. As their income increases however, they will tend to have more choice because prices become relatively less important as income increases. It is only above a certain income level that the differences between the different sorts of goods becomes significant. 
It should be noted however that all goods have people that prefer to use them, even in the absense of 'better' alternatives. There are basic phones, able to make and receive phone calls and store numbers, and there are smartphones, able to access the internet act as internet access points for other devices, take pictures, record voice and video and many more amazing things. Many people able to afford 1,000 expensive smartphones prefer the basic phone because of their simplicity.


